Throughput: 3n-skx-xxv710-64b-2t1 c-vhost-base-avf-\’Bp-pd r

Packet Throughput [Mpps]
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Test Cases [Index]

1. (10 runs) avf-dot1g-I12xcbase-eth-2vhostvr1024-1vm-vppl2xc

2. (10 runs) avf-eth-12xcbase-eth-2vhostvr1024-1vm-vppl2xc

3. (10 runs) avf-dot1g-I12bdbasemaclrn-eth-2vhostvr1024-1vm-vppl2xc

4. (10 runs) avf-eth-I2bdbasemaclrn-eth-2vhostvr1024-1vm-vppl2xc

5. (10 runs) avf-ethip4-ip4base-eth-2vhostvr1024-1vm-vppip4

6. (10 runs) avf-ethip4vxlan-I12bdbasemaclrn-eth-2vhostvr1024-1vm-vppl2xc


https://plot.ly/

